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Item 



15 Multiple 
Choice B.11(A) 1 C 5 Supporting 

16 Multiple 
Choice B.8(B) 1 D 3 Readiness 

17 
Short 

Constructed 
Response 

B.4(B) 2 See Appendix 
1.2 1 Readiness 

18 Multiple 
Choice B.9(A) 1 B 4 Readiness 

19 Multiple 
Choice B.7(A) 1 D 3 Readiness 

20 Drag and 
Drop B.7(B) 2 

4 
See Appendix 

1.3 
3 Supporting 

21 Multiple 
Choice B.6(D) 1 A 2 Supporting 

22 Drag and 
Drop B.9(B) 2 

Cellular 



29 Multiple 
Choice B.4(B) 1 B 1 Readiness 

30 Multiple 
Choice B.4(C) 1 D 1 Readiness 

31 Multi Part B.10(A) 2 A, A 4 Readiness 

32 Drag and 
Drop B.6(A) 2 

Base pair, 
Nucleotide, 
Phosphate 

See Appendix 
1.6 

2 Readiness 



44 Multiple 
Choice B.8(B) 1 B 3 Readiness 

45 Multiple 
Choice B.7(E) 1 D 3 Readiness 
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1.1 

 
 

1.2 

 

Active transport is used in the process. AND The movement of sodium and potassium 
ions requires energy (ATP) because they need to be pumped against their concentration 
gradient from an area of low concentration to an area of high concentration. 
 

  

Dogs have 39 pairs of ch romosom es in their som atic ce



1.3 

 

 
OR 
 

 
 
1.4 
 

 

  

Scientists can use the foss



1.5 
 

 
 
The student should describe example 1 as mutualism. The bees are benefiting by getting 
food (energy and nutrients) from the flowers. The flowering plants are benefiting by 
being pollinated (or cross-pollinated) resulting in fertilization or seed production (or 
increased biodiversity). AND 



1.6 

 
 
 
1.7 
 

 
 
  

I denti fy the com ponents of DNA. 

Move t he correct answer to each box. Not all answers wi ll be used . 
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